N & 0l & Av S Z M A
014HE 22 2 5 BB YA ~ XA
SN gas
M Q48 BOUA WEAD 75
ol UMS BIMNHIA 25 (ol @)
SA - () - NRANY - BES 0 &t w/E-F HDz2
LS 515,060 513,060 2,000
LAEE FOHAX WERIT =5 437,924 435,924 2,000
Las I AMHA 2t 437,924 435,924 2,000
FOXXHEH 2222 34,000 32,000 2,000
201 LEt2A | 7,000 5,000 2,000
01 AtR 22l | 5,000 3,000 2,000
OFUXXIHE 2te 5,000 3,000 2,000
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N = 0l & At & Ml A

2N 28
M 2YH FOHAUX UWERID 2=
Helr 2498 dIAMHA 23 (&)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
2ad 295,633 282,633 13,000
2YH FOHAX UWERHT 2= 232,905 219,905 13,000
2 HdZFAMHA 23t 232,905 219,905 13,000

THohoilgt =2l=3 of2 97,000 84,000 13,000
401 AIEHIZ 2 CHYI 93,000 80,000 13,000
01 A& HI 92,136 79,136 13,000
osti2s J184l EHIAY 13,000 0 13,000
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>
N & 0l & Av S Z M A
20148 =3 2 3] LESH AFE ~ AAMH
SH: 240
M 248 HOXX UEAD 75
el 20 HdFHANH A 23 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2 376,340 374,340 2,000
8 FOHAX UWERHI 2= 309,460 307,460 2,000
Q-0 HIAMHA 23t 309,460 307,460 2,000
HE AU A 222 120,696 118,696 2,000
201 LEt2A | 119,896 117,896 2,000
02 23=2gHl 102,796 100,796 2,000
OJxlzs dJles 74,000 72,000 2,000
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N & 0l & At

o o Al

A

= o
20148 =3 2 3] LESH AFE ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Xl AHEH 266,749 266,749 0
ANAH XX WERAT 5 208,075 210,075 A 2,000
KA B AMHIA 23t 208,075 210,075 A 2,000
HHMEIA 222 64,175 66,175 A 2,000
201 LEt2A | 59,575 61,575 A 2,000
01 AtR 22l | 7,075 9,075 A 2,000
OJIEtAIR 2t 2l Hl 475 2,475 A2,000
HY2FZH (KAL) 58,674 56,674 2,000
Jl=&l 58,674 56,674 2,000
AARE D122 58,674 56,674 2,000
201 LEr2A | 17,464 20,514 A 3,050
01 At 22l bl 14,464 17,514 A 3,050
OZH ol &t 6,364 9,414 A 3,050
405 TtobFH SH| 6,050 1,000 5,050
01 AL EZFH S 6,050 1,000 5,050
O 500, 0002 =34 1,500 0 1,500
OO0ISANE 200,000& 4K 800 0 800
o=z 500, 000& »2CH 1,000 0 1,000
OoXt 300,000& »2CH 600 0 600
OME(EEE) 400 0 400
OHA(UINZHLEE) 400 0 400
O« gt 350 0 350
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